AR Mallory Sonalert Products, Inc.|™" SC628NPR

Sales Outline Drawing revision: F
Specifications:
Sound Level Category Loud
Mode of Operation Fast Pulse @ 2 - 10 PPS
Voltage Rating 6 to 28 VDC
Frequency 2900 £+ 500 Hz
Loudness @ 2 FT 83 to 95 dB(A) Typ.
Loudness @ Min Vdc 80 dB(A) @ 2 Feet and 6 Vdc
Loudness @ Max Vdc 90 dB(A) @ 2 Feet and 28 Vdc
Current Draw 4-16mA
Duty Cycle (%) 50
Housing Material 6/6 Nylon, Color: Black
Storage Temperature -40° to +85° C
Operating Temperature -30° to +65° C
Panel Mounting Recommended hole size is 1.25"(31.75mm). Thread front will fit standard 30mm(1.181") hole.
Knurled Nut Used to attach part to panel. The max recommended torque is 10 in-Ibs.
Weight (Typical) 1.6 0z (45Q)
NEMA 3R ,4X, & 12 Approved with use of ACCO03.
Options Please contact factory.
Dimensions: Inches (mm) ROHS Compliant
PART DIMENSIONS BEFORE CODE DATE: 08115 PART DIMENSIONS AFTER CODE DATE: 08121
LOCKING 131200 [33.17:229 LOCKING 119200 [30.24+229

FLATS

[ i

[
1.240 31501

[N N\
1.240 31501 S | \N
1210 £30.731|

\

1210 £30.731 | m{ﬂ},
\ N\
113 [28.701 J 1.687+005 [42.85%13) L

110 [27.94]
MOLDED BLACK

1 1/8-24 UNS 2A THD MOLDED BLACK | 1/8-24 UNS 2A THD
NYLON HOUSING NYLON HOUSING
KNURLED NUT KNURLED NUT
N TERMINALS PARALLEL e TERMINALS PARALLEL
. TO_LOCKING FLATS . TO_LOCKING FLATS
(1 WITHIN #15° A WITHIN *15°
I A It VR
HWH‘ 250x005 [6.35x12] 1.313=005 [33.34=13] “H‘M 2502005 [6,35+13]

i I THAN
I
B —. 312005 [7.92+.13]

1.687+005 [42,85+13]

110 (27947

1.313005 [33.34=13

il Lo
7\\\” - 312005 [7.92+13]

3752005 [9,5p 13 ]—|a—n] 44=x01 [11.17%25] 3752005 [9.53%13]—a—e] 4401 [11.17%05]
031005 [,79+13] 031%005 [,79+13] 0312005 [, 79+13] 031+00s| [,79+13]
47+01 [11.94+es] 1.37+0s [34.80+152] 4701 [11.94+25]
12820 [32.6+es]
NOTE A: TERMINALS-.032 BRASS TIN NOTE B: MOUNTING- REMOVE BLACK PLASTIC NUT NOTE A TERMINALS-.032 BRASS TIN NOTE B: MOUNTING- REMOVE BLACK PLASTIC NUT
PLATED, TAPPED FOR #6-32 AND INSERT THREADED FRONT THROUGH PLATED, TAPPED FOR #6-32 AND INSERT THREADED FRONT THROUGH
SCREW, TwO #6-32 NICKEL 125" HOLE PUNCHED IN PANEL, IF SCREW TwWO #6-32 NICKEL 125" HOLE PUNCHED IN PANEL, IF
PLATED BRASS SCREWS ORIENTATION IS NEEDED, NOTE LOCKING PLATED BRASS SCREWS ORIENTATION IS NEEDED, NOTE LOCKING
INCLUDED. WILL ACCEPT 1/4° FLATS ON DRAWING. SCREW NUT BACK INCLUDED. WILL ACCEPT 1/4° FLATS ON DRAWING. SCREW NUT BACK
QUICK CONNECT ON DO NOT OVERTIGHTEN QUICK CONNECT ON DO NOT OVERTIGHTEN

4411 South High School Road, Indianapolis, Indiana 46241 U.S.A - Phone: (317) 612-1000 Fax: (317) 612-1010 www.mallory-sonalert.com



http://www.mallory-sonalert.com/

@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

